Fire Inspection and Code Enforcement, 8th Edition 

Means of Egress

Chapter 7 Quiz 

	Name:  
	
	Date:  
	


Directions: 
Write the correct letter on the blank before each question.



1.
Which of the following BEST describes how occupant load is determined for a building that has more than one use?  (268)

A.
By the number of persons in the most frequent use

B.
By the average number of persons that occupy the building for all uses

C.
By the use that allows for the smallest number of persons to occupy the building

D.
By the use that allows for the largest number of persons to occupy the building


2.
The capacity of the means of egress is BEST described as:  (268)

A.
total weight that can be supported by the means of egress.

B.
at least one-quarter of the total number of building occupants.

C.
the number of people who can move along the means of egress.

D.
the number of people who can fit into a specific area while standing.


3.
To determine the exit capacity, the inspector must use mathematical calculations that are based on the:  (269)


A.
capacities given in the plans review process.

B.
equations outlined in the emergency planning documents.

C.
established maximum exit widths contained in insurance ratings.

D.
established minimum exit widths outlined in the model building codes.


4.
Which of the following BEST describes how many people a stairway must be able to accommodate?  (270)


A.
25% of the total building capacity

B.
50% of the total building capacity

C.
the greatest number of people expected to occupy any single floor above.

D.
the greatest number of people expected to occupy any single floor in the entire building.


5.
When occupant loads are greater than 500, the codes generally require how many separate exits?  (270)


A.
A minimum of two

B.
A minimum of three

C.
A minimum of four

D.
A minimum of five


6.
When inspectors encounter situations where the occupant load is consistently exceeded, they should:  (270)


A.
immediately issue citations.

B.
immediately proceed to close the occupancy.

C.
work with the building owner to reclassify the occupant load.

D.
explore all possible alternatives for correction within the framework of their local codes.


7.
Which of the following is the BEST reason why exits should be located remotely from each other?  (271)


A.
Helps minimize travel distance to an exit

B.
Allows for the building capacity to overflow

C.
Helps in the aesthetics of the building design

D.
Allows travel distances between exits to be equalized


8.
Within each model code, maximum travel distances vary depending on the type of occupancy and:  (272)


A.
how often visitors may be in the occupancy.

B.
how often occupants perform evacuation drills.

C.
whether the building has a standpipe system in place.

D.
whether the building has an automatic sprinkler system.


9.
The common path of travel is the path that all occupants must travel in one direction before reaching a point where they:  (272)


A.
can easily be rescued by emergency personnel.

B.
may immediately exit the occupancy through an exit discharge.

C.
may choose between staying on the path of travel or moving to an area of refuge.

D.
may choose between two separate and distinct paths leading to two separate exits.


10.
When determining means of egress requirements, the first step would be to determine:  (275)


A.
occupant load.

B.
if egress capacity is sufficient.

C.
clear width of each component.

D.
most restrictive component of each route.
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